
الصف السادس الابتدائى

Model (1) 40
Marks

2

1  Choose the correct answer:�

7
a   Z+ ⋃ {0} = .....................

 Z– 	  N	  Z	  Z+

b   �If 2x = – 4 , then x ∈ .....................

 N	  ∅	  Z+	  Z–

c   �The circumference of the circle = ..................... × π

 r 	  2r 	  r2 	  r + 2

d   A die is tossed once, then the probability of getting the number 3 = .....................

 0	  16	  36	  1

e   The number which satisfies the inequality x > – 3 is ..................... 

 –2	  –3	  –4	  –5

f   �The total surface area of a cube is 150 cm2, then its side length is ..................... cm.

 25	  4	  5	  6

g   �25 × 22 = ...............

 27	  47	  1	  23

2  Complete each of the following:�
6

a   2
3 × 25

22  =  ..........................................

b   �The set of counting numbers C ............... N

c   �The probability of the impossible event = ...............

d   �If x – 7 = 9,  x ∈ N,  then x = ...............
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e   �The perimeter of the base of a cuboid is 10 cm  and  its height is 4 cm. Then its lateral 

area = ............... cm2.

f   �In the following figure the distance between points A and B = ............... units. 

-1

B

-2-3 40 1

A

2 3

3  Choose the correct answer:�
7

a   | 6 - 7
2  | ............... Z

 ∈	  ∉ 	  ⊂	  ⊄

b   �If A (2 , 3) and B (6 , 3), then the length of AB is .................. length units.

 2	  3	  4	  5

c   �(–1)7 + (–1)6 = ...............

 0	  –1	  1	  –2

d   �{0} ............... N

 ∈	  ∉	  ⊂	  ⊄

e   �When tossing a die once and observing the upper face, then the probability of 

getting a number greater than 6 = ..................... 

 ∅	  0	  16	  13

f   �The sum of the measures of the accumulative angles at the center of the circle = ...............

 0°	  180°	  90°	  360°

g   �If the set of substitution is {1 , 2 , 3 , 4}, then the solution set of the equation x + 6 = 10 

is ..................

 {1}	  {2} 	  {3}	  {4}
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4  Answer the following:�
20

a   �Find the solution set in Z of the equation: 2x + 11 = 3

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

b   �Use the distribution property to find the result of: 

37 × 17 + 37 × (-17)

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

c   �Find the area of the opposite figure (π ≃ 3.14)�

r = 10 cm
.....................................................................................................................................................................................................................................................

d   �The following table shows the percentages of production of chickens in four farms 

within a month. Represent these data by circular sectors:

First Second Third Fourth
15% 30% 20% 35%

............................................................................................................................................................................�
Second

First

Fourth

Third 72º
126º

108º
54º

............................................................................................................................................................................

............................................................................................................................................................................

............................................................................................................................................................................
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Model (2) 40
Marks

5

1  Choose the correct answer:�
7

a   Z+  ∩  Z– = .....................

 Z+	  Z –	  ∅	  N

b   �The greatest negative integer is .....................

 0	  –1	  1	  -100

c   �If 7x = –14, then x = .....................

 7	  –2	  –7	  –21

d   �The degree of the equation x3 – 4x2 = 12 is .....................

 3rd	  2nd	  1st	  4th

e   �The image of the point (–3 , 5) by translation ( x + 3 , y – 5) is .....................

 (6 , 10)	  (0 , 5)	  (0 , 0)	  (3 , 0)

f   �� When tossing a coin once, the probability of getting a head is ..................... 

 12 	  1	  34	  14

g   �In the opposite figure: 

The area of Δ ABC = ..................... cm2�

A

5 cm

4 cm

3 cm

BC

 12		   6

 10		   7.5

2  Complete each of the following:�
6

a   The image of the point  (-2 , -7)  by translation (x – 3 , y + 4) is ..................... .

b   | – 24 | ÷ (–8) = .....................

c   �A cuboid, its dimensions are 3 cm, 4 cm and 5 cm, then its lateral area = ..................... cm2.

d   If 2y = 8, then y + 3 = ..................... 
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e   The smallest non-negative integer number is .....................

f   �If the probability of selecting a successful student in a classroom is 0.7, then the 

probability of selecting a failed student is .....................

3  Choose the correct answer:�
7

a   Z+ – Z– = .....................

 Z	  N	  Ø	  Z+

b   �If x = –1 , y = 2, then the value of x + y = ..................... 

 2	  3	  1	  –1

c   �All the following numbers satisfy the inequality x > –3 except .....................

 0	  –1	  –2	  –4

d   �The multiplicative identity in Z is ..................... 

 zero	  1	  –1	  2

e   �The area of a circle with radius 10 cm = ..................... cm2.� (π ≃ 3.14) 

 31.4	  314	  3.14	  .0314

f   �If A is an event of the sample space of a random experiment, then: 0 ≤ P (A) ≤ ...............

 0	  1	  –1	  2

g   �The image of the point (4 , 6) by translation (x + 1 , y – 3) is .............

 (5 , 7)	  (6 , 5)	  (2 , 5)	  (5 , 3)
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4  Answer the following:�
20

a   Find the result:

23 × (-2)4

25

.....................................................................................................................................................................................................................................................

b   �Find the solution set of the following inequality in Z : 

2x + 1 ≥ 5

Answer: 

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

c   �A box in the shape of a cuboid, its length is 10 cm, its width is 5 cm and its height is 

8 cm. Find its lateral area and its total area.

Answer:

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

d   �The following table shows the percentages of the favorite sports in a school. 

Represent these data by the circular sectors.

Football Basketball Handball
40% 35% 25%

Answer: 

................................................................................................................................................................

................................................................................................................................................................�

Football

Handball
Basketball

126º
144º
90º

................................................................................................................................................................

................................................................................................................................................................

................................................................................................................................................................
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Model (3) 40
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8

1  Choose the correct answer:�
7

a   –7 ................ –2

 >	  <	  =	  ≤

b   �If x + 2 = |–5|, then x = .............

 –7	  7	  3	  –3

c   �(–2)3 > ................

 ( -2)2	  32	  (–3)3	  33

d   �The smallest positive integer is ................

 0	  1	  –1	  2

e   �Z – N = ...........

 Z+	  {0}	  Z–	  0 

f   �If P (A) = 1, then A is called ............... event.

 a possible	  an impossible	  a certain	  otherwise

g   �If the edge length of a cube is 4 cm, then its lateral area is ................ cm2

 96	  64	  16	  24

2  Complete each of the following:�
6

a   9 (4 + (–3)) = ........... × ........... + ........... × ........... = ...........

b   �– | –3 | + 4 + (–8) = ...........

c   �If x ∈ {2 , –2} ⋂ {4 , –2}, then x = ...........

d   �If the probability of occurrence of the event A is 57 , then the probability of  

non-occurrence of the event A = ...........
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e   �The image of the point (–3 , 4) by translation (0 , –4) is ................................

f   �The height of a cuboid whose lateral area is 120 cm2 and its base dimensions  

are 4 cm and 6 cm = ................ cm

3  Choose the correct answer:�
7

a   If  2x = |– 8|, then x = ...........

 -8	  8	  4	  -4 

b   �(3)8 ÷ (–3)5 = .....................

 (3)3	  (–3)13	  3	  (–3)3

c   �If | x3 | = 4, then x = ........ 

 ±12	  –12	  12	  otherwise

d   �The solution set of inequality 2 ≤ x < 3 , where x ∈ N is .....................

 {5}	  {2}	  {2 , 1.5}	  {2 , 3})

e   �A cube of edge length 6 cm, its total area = .............. cm2. 

 36	  72	  144	  216

f   �If a circular sector represents 13 of a circle, then the measure of its central angle = ............

 120°	  90°	  60°	  180°

g   �The probability of getting a number divisible by 3 when rolling a fair die once is ...................

 12	  13	  16	  23
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4  Answer the following questions:�
20a   �Find the solution set of the following inequality:  

3x – 2 < 7	 x ∈ N 

Answer: 

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

b   �Use the properties of addition in Z to find the result of: 
(–116) + 190 + 116	 (State the property used in each step.) 

Answer: 

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

.....................................................................................................................................................................................................................................................

c   �In the coordinate plane, represent the points A (0 , 1), B (2 , 1) and C ( 2 , 4), then find: 

1   The length of BC . 

2   The image of Δ ABC by translation (0 , 2) 

Answer: 

1   ..............................................................................................................................................................

2   �..............................................................................................................................................................
..............................................................................................................................................................

..............................................................................................................................................................�

3

5

6

2

4

1

1-1
-1

-2

-3

-2 32 4-3

..............................................................................................................................................................

..............................................................................................................................................................

c   �A box contains 8 white balls, and 12 red balls where all balls are identical. 
If a ball is drawn randomly, calculate the probability of the following:  

1   �Drawing a white ball.	 2   �Drawing a red ball.

Answer: 

1   ..........................................................................................................................................................................................................................................

2   ..........................................................................................................................................................................................................................................
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Model (1) 40
Marks

2

1  Choose the correct answer:�

7
a   Z+ ⋃ {0} = .....................

 Z– 	  N	  Z	  Z+

b   �If 2x = – 4 , then x ∈ .....................

 N	  ∅	  Z+	  Z–

c   �The circumference of the circle = ..................... × π

 r 	  2r 	  r2 	  r + 2

d   A die is tossed once, then the probability of getting the number 3 = .....................

 0	  16	  36	  1

e   The number which satisfies the inequality x > – 3 is ..................... 

 –2	  –3	  –4	  –5

f   �The total surface area of a cube is 150 cm2, then its side length is ..................... cm.

 25	  4	  5	  6

g   �25 × 22 = ...............

 27	  47	  1	  23

2  Complete each of the following:�
6

a   2
3 × 25

22  =  2
8

22  = 26

b   �The set of counting numbers C ⊂ N

c   �The probability of the impossible event =  0 

d   �If x – 7 = 9,  x ∈ N,  then x =  16  
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e   �The perimeter of the base of a cuboid is 10 cm  and  its height is 4 cm. Then its lateral 

area = 40 cm2.

f   �In the following figure the distance between points A and B = 2 units. 

-1

B

-2-3 40 1

A

2 3

3  Choose the correct answer:�
7

a   | 6 - 7
2  | ............... Z

 ∈	  ∉ 	  ⊂	  ⊄

b   �If A (2 , 3) and B (6 , 3), then the length of AB is .................. length units.

 2	  3	  4	  5

c   �(–1)7 + (–1)6 = ...............

 0	  –1	  1	  –2

d   �{0} ............... N

 ∈	  ∉	  ⊂	  ⊄

e   �When tossing a die once and observing the upper face, then the probability of 

getting a number greater than 6 = ..................... 

 ∅	  0	  16	  13

f   �The sum of the measures of the accumulative angles at the center of the circle = ...............

 0°	  180°	  90°	  360°

g   �If the set of substitution is {1 , 2 , 3 , 4}, then the solution set of the equation x + 6 = 10 

is ..................

 {1}	  {2} 	  {3}	  {4}



الصف السادس الابتدائى 4

4  Answer the following:�
20

a   �Find the solution set in Z of the equation: 2x + 11 = 3

2x+ 11 – 11 =  3 – 11	 2x =  – 8

x = – 82	 x = – 4

S.S. = {-4}

b   �Use the distribution property to find the result of: 

37 × 17 + 37 × (-17)

= 37 (17 + (-17))

= 37 × 0

= 0

c   �Find the area of the opposite figure (π ≃ 3.14)�

r = 10 cm
The area of the figure = 12 × 3.14 × (10)2 = 157 cm2

d   �The following table shows the percentages of production of chickens in four farms 

within a month. Represent these data by circular sectors:

First Second Third Fourth
15% 30% 20% 35%

The measure angle of the first sector is 15
100 × 360° = 54°�

Second

First

Fourth

Third 72º
126º

108º
54º

The measure angle of the second sector is 30
100 × 360° = 108°

The measure angle of the third sector is 20
100 × 360° = 72°

The measure angle of the fourth sector is 35
100 × 360° = 126°
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Model (2) 40
Marks

5

1  Choose the correct answer:�
7

a   Z+  ∩  Z– = .....................

 Z+	  Z –	  ∅	  N

b   �The greatest negative integer is .....................

 0	  –1	  1	  -100

c   �If 7x = –14, then x = .....................

 7	  –2	  –7	  –21

d   �The degree of the equation x3 – 4x2 = 12 is .....................

 3rd	  2nd	  1st	  4th

e   �The image of the point (–3 , 5) by translation ( x + 3 , y – 5) is .....................

 (6 , 10)	  (0 , 5)	  (0 , 0)	  (3 , 0)

f   �� When tossing a coin once, the probability of getting a head is ..................... 

 12 	  1	  34	  14

g   �In the opposite figure: 

The area of Δ ABC = ..................... cm2�

A

5 cm

4 cm

3 cm

BC

 12		   6

 10		   7.5

2  Complete each of the following:�
6

a   The image of the point  (-2 , -7)  by translation (x – 3 , y + 4) is   ( –5 , –3)  .

b   | – 24 | ÷ (–8) =   –3  

c   �A cuboid, its dimensions are 3 cm, 4 cm and 5 cm, then its lateral area =   70   cm2.

d   If 2y = 8, then y + 3 =   7   
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e   The smallest non-negative integer number is   0   

f   �If the probability of selecting a successful student in a classroom is 0.7, then the 

probability of selecting a failed student is   0.3   

3  Choose the correct answer:�
7

a   Z+ – Z– = .....................

 Z	  N	  Ø	  Z+

b   �If x = –1 , y = 2, then the value of x + y = ..................... 

 2	  3	  1	  –1

c   �All the following numbers satisfy the inequality x > –3 except .....................

 0	  –1	  –2	  –4

d   �The multiplicative identity in Z is ..................... 

 zero	  1	  –1	  2

e   �The area of a circle with radius 10 cm = ..................... cm2.� (π ≃ 3.14) 

 31.4	  314	  3.14	  .0314

f   �If A is an event of the sample space of a random experiment, then: 0 ≤ P (A) ≤ ...............

 0	  1	  –1	  2

g   �The image of the point (4 , 6) by translation (x + 1 , y – 3) is .............

 (5 , 7)	  (6 , 5)	  (2 , 5)	  (5 , 3)
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4  Answer the following:�
20

a   Find the result:

23 × (-2)4

25

  = 2
3 × 24

25  = 2
7

25 = 22 = 4  

b   �Find the solution set of the following inequality in Z : 

2x + 1 ≥ 5

Answer: �2x + 1 ≥ 5 

2x + 1-1 ≥ 5-1 

2x  ≥ 4 

x  ≥ 2	 S.S = { 2, 3, 4, …}

c   �A box in the shape of a cuboid, its length is 10 cm, its width is 5 cm and its height is 

8 cm. Find its lateral area and its total area.

Answer:

The lateral area  =  2 (L + W) × h =  2 (10 + 5) × 8 = 30 × 8 =240 cm2

The area of the two bases = 2 × L × W=2 × 10 × 5 =100 cm2

The total area =The lateral surface area + the area of two bases = 240 + 100 = 340 cm2

d   �The following table shows the percentages of the favorite sports in a school. 

Represent these data by the circular sectors.

Football Basketball Handball
40% 35% 25%

Answer: 

The measure of the central angle of football  

 = 40
100 × 360º = 144º

The measure of the central angle of basketball�

Football

Handball
Basketball

126º
144º
90º

= 35
100 × 360º = 126º

The measure of the central angle of handball

= 25
100 × 360º = 90º
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Model (3) 40
Marks

8

1  Choose the correct answer:�
7

a   –7 ................ –2

 >	  <	  =	  ≤

b   �If x + 2 = |–5|, then x = .............

 –7	  7	  3	  –3

c   �(–2)3 > ................

 ( -2)2	  32	  (–3)3	  33

d   �The smallest positive integer is ................

 0	  1	  –1	  2

e   �Z – N = ...........

 Z+	  {0}	  Z–	  0 

f   �If P (A) = 1, then A is called ............... event.

 a possible	  an impossible	  a certain	  otherwise

g   �If the edge length of a cube is 4 cm, then its lateral area is ................ cm2

 96	  64	  16	  24

2  Complete each of the following:�
6

a   9 (4 + (–3)) = 9 × 4 + 9 × –3 = 9

b   �– | –3 | + 4 + (–8) =  –7  

c   �If x ∈ {2 , –2} ⋂ {4 , –2}, then x =  –2  

d   �If the probability of occurrence of the event A is 57 , then the probability of  

non-occurrence  of the event A = 27
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e   �The image of the point (–3 , 4) by translation (0 , –4) is  (–3 , 0)  

f   �The height of a cuboid whose lateral area is 120 cm2 and its base dimensions  

are 4 cm and 6 cm =  6  cm

3  Choose the correct answer:�
7

a   If  2x = |– 8|, then x = ...........

 -8	  8	  4	  -4 

b   �(3)8 ÷ (–3)5 = .....................

 (3)3	  (–3)13	  3	  (–3)3

c   �If | x3 | = 4, then x = ........ 

 ±12	  –12	  12	  otherwise

d   �The solution set of inequality 2 ≤ x < 3 , where x ∈ N is .....................

 {5}	  {2}	  {2 , 1.5}	  {2 , 3})

e   �A cube of edge length 6 cm, its total area = .............. cm2. 

 36	  72	  144	  216

f   �If a circular sector represents 13 of a circle, then the measure of its central angle = ............

 120°	  90°	  60°	  180°

g   �The probability of getting a number divisible by 3 when rolling a fair die once is ...................

 12	  13	  16	  23
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4  Answer the following questions:�
20a   �Find the solution set of the following inequality:  

3x – 2 < 7	 x ∈ N 

Answer: 

3 x – 2 + 2 < 7 + 2

3 x  < 9

x  < 3

S.S. = {2 , 1 , 0}

b   �Use the properties of addition in Z to find the result of: 

(–116) + 190 + 116	 (State the property used in each step.) 

Answer: 

–116 + 116 + 190		  (commutative property)

= [ -116 + 116 ] + 190	 (associative and additive inverse) 

= 0 + 190		  (the additive neutral) 

= 190		  (closure property)

c   �In the coordinate plane, represent the points A (0 , 1), B (2 , 1) and C ( 2 , 4), then find: 

1   The length of BC . 

2   The image of Δ ABC by translation (0 , 2) 

Answer: 

1   The length of BC = 3 units length

2   �The image of Δ ABC by translation (0 , 2) is A\ B\ C\

Such that �A(0 , 1)   (0 , 2)     A\  (0 , 3) �

3

5

6

2

4

1

1-1
-1

-2

-3

-2 32 4-3

A

A\

B

B\

C

C\

B(2 , 1)   (0 , 2)     B\  (2 , 3)  

C(2 , 4)   (0 , 2)     C\  (2 , 6) 

c   �A box contains 8 white balls, and 12 red balls where all balls are identical. 

If a ball is drawn randomly, calculate the probability of the following:  

1   �Drawing a white ball.	 2   �Drawing a red ball.

Answer: 

1   The probability of drawing a white ball = 8
20 = 25 

2   �The probability of drawing a red ball= 12
20 = 35
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